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Source S5 df M35 F
A (lecture room) 5 1 3 (a)
B(testing room) 5 1 5 {h)
A*D 845 1 845 (¢)
Error 146 {d) (e} B
Total 1001 19

Y - Each new employee of a company is required to teke an aptitude test administered by the
personnel department.  The maximum scare is 40, and the test covers basic English and math
_ skills. A sample of 14 test scores produces the following values:
17 25 18 33 35 14 35
17 24 23 38 28 31 37

(1) Treating these valucs as raw data, compute the mean and the standard deviation. {5%)

(2) Find the coefficient of variation for this sample. What does this coefficient mnean to you?
(5%) ‘

(3) Suppose the manager of the personnel department reported in a company inemo that the
average score for all new employees who started on or after Januvary 1 of the current
calendar year is 21.6, with a standard deviation of 24.9. Is this reasonable? Why or
why not? (5%}

Ti ~ A random sample of ten students on the Ideal University were asked their grade point
averages (GPA) and the number of hours per week, outside of class, the spent studying. The
results are shown in the following table.

GPA study hours

80 25

83 22 _
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65 18

{2) Estimate the linear regression of grade point average on study time. (5%)
(b} What effect would you expect an increase of one hour per week  n study time 1o have
on grade point average? (5%)
{c) What does the p-value mean to you in the hypothesis testing whether the study time
linearly influences GPA in this study? (5%) > % (
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< » What should ane do when he/she discovers the significant difference between various means

by the ANOVA test and it is necessary to rank these different means for research purposes?
(10%0) o

4z~ A personnel director wants ta know if the mean length of employment in years with the

company is about the same for assembly and clerical workers. A sample 35 employees was
randomly drawn from each of these two groups of workers. Conduct a test of hypothesis to
determine if there is a significant difference in the mean length of employment with the
company for the two groups. Use a significance level of 0.05. (10%)
© Assembly workers: n = 35, X = 4.1, §*=30,2.
Cletical workers: n =33, X =3.2., §'=28.1
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whete v, is the numnerator degrees of frecdom and # Isthe denebinator degrees af fizedm.
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